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For the problems below, put your answer in the box. Do not show any work (e.g., intermediate forms)
In the box. Instead, show work below the boxes. You do nat have to show any work for the problems
that do not indicate “Show Work!”. For those, you may use an automated system such as a graphing
calculator or software. E.g., | encourage you to try Wolfram Alpha (wolframalpha.com).
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Simplify (and show work below each box):
LS5uam i,
” an  36x* (% 20) 1y efgF .
5,01 . ) " ? # 5p
-6 A
. '173675‘1’ —(Bé-xq){'z n - 72, Jra
. 1)‘7
[é z) )
) - X% = g7h
i PR 7 7
a3 ussan?('p > 9) he & ot
=/ l??;_;:z 5(:.)9% ey 3% 23 4 [aﬁ“’“"‘? %4>0)
GG ) gLt 3%
9 cpat. R .
l@é’-i; = 5 4%y FITA -y
o e
whic 36'3'3 )7 % 2?/”—'-

- 'IECL
b ‘555
E % e



